
WARNING
The top on this vehicle is designed only for additional 

protection against the elements.

Do not rely on the top to contain occupants within the 
vehicle or to protect against intrusion of foreign objects, 

nor injury during an accident.

Make sure all brackets and screws are tight. Periodically 
check for tightness and retighten when necessary.

WEAR SEAT BELTS AT ALL TIMES

PLEASE READ CAREFULLY BEFORE STARTING INSTALLATION

To safely lift and install this hardtop, you will need the assistance of at least one other 
person.

Follow the instructions and perform the steps in the sequence given. Short cuts to the 
directions may result in an unsatisfactory installation.

Parts included in the installation kit
2ea. Allen Head M6 x 45 Socket Cap Screws
1ea.  Perimeter Seal 149”
4ea. 1” Washers
2ea. M6 Stay fast bolts
1ea. Rear Door Seal
1ea. Instruction Sheet

Kia Sportage Installation Instructions



1. Unzip side windows.  (both sides) 2. Remove side windows. (both sides)

3. Unzip rear window. 4. Remove rear window.

6. Pull forward to disengage 
soft top from front flange.

5. Pull down on soft top to disengage 
from flange. (both sides)



7. Remove soft top totally from 
vehicle.

8. Unscrew hoop assembly.    
(both sides)

9. Remove soft top hoop assembly. 10. Remove attach bolt. (both sides)

11. Remove attach bolt.               
(both sides)

12. Remove bolt from under 
rubber bumper. (both sides)



15. Next remove rubber trim from 
perimeter flange.

13. Remove all 5 flanges.               
(both sides and top)

16. Start here and install the 
perimeter seal all the way 
around. Bubble side facing out.

14. It should look like this when your done.

17. Install the top front side 
pointing down, rear side up and 
engage the front flange. Then 
lower the rear of the top.



19. Install rear washer with M6 stay fast 
bolt. Now tighten up all 4 bolts.

22. Lower the rear window and
slowly close the gate. Make 
sure the gate is not rubbing.

Your Done.
Enjoy !

18. Locate the front hole and install the 
washer and M6 socket cap screw. 
Do not tighten.

20. Remove old trim seal on tail gate. 21. Install new rear door seal. Trim to fit
match old trim seal.


